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Consider the following system depicted below
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The input-output relation for_System A us characterized by the following
causal D.E.

dz(t)
dt

dx(t)

+62(t) = +5X(t).

And the impulse response hy, (t) for System B is defined as:

hyt) = e 20 (t)

a. What is the Transfer function of System A. (2 pts)

Z(s) s+5

X s+6 2l

b. Determine the Transfer function of the complete system. (2 pts)

Hy(s) =

+1O

H(S) = Hy(9) Hp(8) =2

(s+6)(s+10)

EECE 440-Short Quiz 11 1/2



c. Determine the impulse response, h(t), for the complete system.

_025 125
HE) = s16) T 5110) ¥PY

h(t) = (-0.25¢ 0 +1.256 1% y(t) (2 pts)

d. What is the Differential equation that relates x(t) to y(t)? (2 pts)

d2y(t) . . dy(t) ~dx(t)
12 +16 ot +60y(t) = it +5x(t)
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